EAGRAROBREERT — 2 N— ABISH —F

202012848 (£) 13@HA5H

mmakg C2 ¥>%—#% ‘ (X W ‘ (3eER5R9]  — | & (A) 16000 &
[AE4£] 1% :280,000 "  23#%&:65000M ~ 33%:28,000H”  43#&:20,000M ~ 53#&:14,000 ™
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
1 6| ¥/VINUFZ # 5 ﬁ%ﬁ% 1:(4_3).3 3-4-2-1 [38.8| — 6 461 {éﬂg% (&)
L:O—FAUAZ B:AOZH 0 ek i
= 4 4 | EHEN 1:43.8 1-1-1-1 | 39.8| — 1 496 | TERIE= (5542)
2lglg| 7T M- 54.0 @ 1/2) (1) |BR#= :
LNAFTZXE— B:F714 hN—hrU— B &F*
355 | 7U—d—1>7 H 6 &24*'32 (11:414/.21> 2-3-6-3 |39.7| — | 7 z:g()) ﬁi%i (BEE)
L:70F—=v BEavrstPL BA77—L
4 o| X1 awhy3F H o4 7Jé¥3?33 1:(424).5 7744|397 — | 2 | 454 zgﬁﬁl (812)
QAL AR BETIAHN O | B
5717/ E—E=TL1F> #o4 | BBHEZ 1:(435).2 4235 (409 — | 3 | 443 %gggi (512)
QE—E—FLEL BE—E-TLYr— 0| gar= s
Y 2 MEEPEREES) i 4 | MEEE ok 6-6-5-6 |40.7| — | 4 (‘ﬁ; e (8£42)
g h—U B:LAT—Ujy— B O H405
il 77ovx17q i 4 3 gﬁ%iﬁi (11415/28> 5-5-7-7 | 40.4 | — 5 <4+335) ;ﬁg%i (5#)
RN—5—-2v 7 B:T77o3x43> J=HrTy—LA
8 3| FTLTNY— o9 g’ﬁlﬂ“i‘ 1(:14/52.)9 8-8-8-7 |39.9| — 8 450 @%ﬁ)ﬁﬁ: P(%E%ﬂ
RTINSy Y1 BFASITA— b | gpipsg
@ 1—F—@&BIEf
13=7r= 8,5,6,7,1,4,2,3
2ol=7F= 8,7,5,6,1,4,2,3
Jo=3r= 8,6,7,2,4,5,1,3
43—F— (6,8),5,2,7,4,(1,3)
[ RN
BB 6 1,030 794K 6-8 3804 B = 6-8 1,160/ JEE 5-6-8 4,660/
1 B 6 230 5-6 1,390 B H 6-8 3,220 JEH 6-8-5 27,140
8 110 5-8 480M
6 270

ARICOVWTRDTEEERROODE. TR LI,




